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students will read the question paper only and will not write any answer on
the answer-book during this period.
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 -3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 11 - 14 and 26 - 29 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
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A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b)  Shifts downwards

(c) Can shift both upwards or downwards
(d)  Does not shift

Tehen ARMM & 1 AN 2 2 1

What are monotonic preferences ?

Ife a%q Y 1 hima # gfg @ a&g X Al 71 Sedl 7, a1 gF1 a&q3li o o I8
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If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b) Complements

(c) Not related

(d)  Jointly demanded

3 P.T.O.
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qfd hl AT A= % AT o A1 I 99-7% (plus sign) T a1 | AT HI
S = & H19 o 919 FO-FU% (minus sign) &1 ST 8T @ ? HHEATST |
Why is minus sign attached to the measure of price elasticity of demand

of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.

HIU FA g, MG qTTshT W SATHTNG IcaTG GHTSHT I56 o 3R T
feoquft i

T X (315) T Y (35TS)
0 20
1 18
2 14
3 8
4 0

Giving reason, comment on the shape of Production Possibilities Curve

based on the following table :

Good X (units) Good Y (units)
20
18
14
8
0

~ W N[~ O
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T 3T AT 2
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What will be the impact of “Education for All campaign” (Sarv Shiksha
Abhiyan) on the Production Possibilities Curve of the Indian economy
and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?

7. 3feray dima fgier @ @ Ay g 2 ST 39 fohe Jeer Shi aeget W
TR 11 8 ? W@ 1 TN HIfT | 3

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

Fig:  [HEciRad geT FacT GIvE ahemidEar & g IvT G 7 & 9 WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 7.

f¥repan hmd feio it =an fmd i & = 7@ gusmsy | 3

Explain the difference between maximum price ceiling and minimum
price ceiling.

8.  UshIiUehNIcHeh UIqAar # Icure fave faxisdr <1 Aew gx=msy | 3

Explain the significance of the feature ‘product differentiation’ in
monopolistic competition.

9. ITYfd ¥ A AN B ? ToheIehl TG T Th & bl YA T IS4 aTalm

JHTE EHEATET |

arera
qfd @ 9fEds & F1 AT B 2 Tk avg W B M T 3Teh! Ifd T T8
AT THTE FHAST | 4

What is supply ? Explain the effect of technological progress on supply of
a good.

OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.
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Note :

14.
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A consumer spends ¥ 200 on a good priced at ¥ 5 per unit. When the
price falls by 20 percent, he continues to spend ¥ 200. Find the price
elasticity of demand by percentage method.

Tsh 9&g 1 9N HqeH H & | 9% ! 3Tgfd § HHl’ 7t 8 | 39 qiEdd
HR0T B IS THTE] ohl @1 FHIST |

Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change.

Teh 3CUTCeh ohl T ohl ITdl o YIS TehIER THTET |

Explain the rationale behind the conditions of equilibrium of a producer.

giadt AuTal < M & $ Scdred & Hey H fafi =wor sarsu | T
% 1 R ot G | TE@rhes 1 S AT |

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

HETfeTRad F97 #acT gIFgia ahemiaal & 1o7q Jo7 G837 13 & T W& |

The following question is for the Blind Candidates only in lieu of
Q. No. 13.

T GEATCH 3aTeWU hl eIl € IRadi AJardl < I o FA 3cq1ed b
ey # fafie =wor 9qmst | Iess =r o i o o S |

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

Teh IUNRRT hadl g IEqaTi ol YU Hdl 8, TAh ohl shidd Teh 91 Ufd
TS 8 | AMG IUWIH QM1 FEgl 1 LHT §ANT A1 3 &bl &iara gfaeamm
T 2R, A 1 IYHIHN Hgod § 8§ ? HRUl AT | wagmse U feufa § we
et IuwIeRT &= B |
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Teh IUUIRAT had &l aegali X 3R Y w1 IU9NT ial g, eh! Hhimd hue:
T 2 3 T 19 318 & | ARG IUMRT ST It <1 Ud | gar © foa
X 61 it ITNfirar 4 3R Y 1 off 4 8, A1 01 3U9RE Ggad | ® 2 HRO
A | guemse vH feufa § e fodehl SudhRr s wum | e S
fergetwor w1 39T hif | 6

A consumer consumes only two goods, each priced at Rupee one per unit.
If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR

A consumer consumes only two goods X and Y whose prices are ¥ 2 and

T 1 per unit respectively. If the consumer chooses a combination of the
two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.

©us o
SECTION B
15. TR g9 § TTfHeh H1eT $89h sk 8 : (T& fashey gin) 1
(31) =S YA
(¥) =S Yrae — 349N

)
(¥) SUR — <IN YIIdH
(3) ST H ¥ g Tal

Primary deficit in a government budget equals : (Choose the correct

alternative)

(a) Interest payments

(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

58/2/2 7 P.T.O.
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17.

18.
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Name any two components of ‘aggregate demand’.

Ffe HHTd 399 JGRT = 0, [UTh T Jod I8 B : (TR fohed gHT)
(31) 0

@) 1
(@) 03 1% =
(3)

If MPC = 0, the value of multiplier is : (Choose the correct alternative)
(a) O

(b) 1

(c) Between 0 and 1

(d) Infinity

I A1 qoad B W 99 fogE ggr ot gt 7, 9 T 3™ W U YHE
9SSl GHTET 7 : (TR foshe gfw)

() HhRIcHS

() TehRIcHS
(d) EhRIcHS 9 FHNICHS GHI
(3)  rE wvma T

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect



19. 0 ¥ SHH-O1 Tod =3 8 2 1
(1) W @l
(¥) SER
(m) i Tgran
(3) R W

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

20. AU SATd §T HHSATSY fob WIAH Fde i@l § foe@i =i feam T g *al &t
fopan ST 2 | 3

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

21. Jfc IrEdfass Hehel < IS T 200 B TR Hifgeh Hehad <M 3cU1e T 210
&1, Tl hAd FIhh (IR = 100) T Tehe hHIT | 3

If the Real Gross Domestic Product is ¥ 200 and the Nominal Gross
Domestic Product is ¥ 210, calculate the Price Index (base = 100).

22, YAM Hgad o@l § W@RA (W) oFed IR URiSH &g oFed W 31

ERIELS
AT

PIAH FdeH @l § SR T R F1e] Tra1 dged o 19 Famsy | 3

Give the meanings of ‘autonomous’ transactions and ‘accommodating’
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.

58/2/2 9 P.T.O.
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24.

25.

26.
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T rferaee Tged A @ | frefafed & fow == s fifsw
T 3T = 750

TR U9 = 200
Hird s=d 9 = 0-4

An economy is in equilibrium. Find the Investment Expenditure from
the following :

National Income = 750
Autonomous Consumption = 200

Marginal Propensity to Save = 0-4

Hrd 1T Seh 1 TLHT hl Sh hE GHSATST |
JAra

g Sfeh T ‘el T S I THATT |
Explain ‘Government’s Bank’ function of the central bank.

OR

Explain ‘Bankers’ Bank’ function of the central bank.

T AT T hEd @ o TS ok YgT 1 GO H & ek g9 I8 o Fad &
or iH I S HT THATT IURR eI S i B 2 THIATST | ITOST bl
TR0 HgT G 1 TP AT T T YHE T8 hl GHEAT § 2

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on

national income ?

THIfTRRT 3R STIEhITahil SR § T8 H Tehi] S1e ohl Y{HehT THeST |

Explain the role of government budget in fighting inflationary and
deflationary tendencies.

10
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27. RO §dd g¢ FHEATSE o T 3T 1 SAE ad sy Hefafad % @y
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(1) T % g T R PAE

(i) T HREH R I 399 & foIu w=fq @le

(iii) e Tafercamer grr @l o fore e @le

Giving reasons explain how should the following be treated in
estimation of national income :

1) Payment of corporate tax by a firm

(ii)  Purchase of machinery by a factory for own use

(iii)  Purchase of uniforms for nurses by a hospital

28. ‘whifashrl 37qU § a1 MU 2 ? SfErd Aepal FfY 1dTa hi 39 T Bl QT
*H T gfter arETET |

HAAAT

‘STl AT R I B ? 39 A hl QU HH H A wreell st
i yfHeRT FHSST | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in

removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’

in removing this gap.

58/2/2 11 P.T.O.
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TP o1 3R St o1 uftswford hife

()  Tras smEma

(i)  Taa e geit fwi
(if) Sfeheh T

(v) T R0 9 A

(v) Trma

(vi) TR SAfaq Iua ==
(vii) Toewt =i fadt = =
(viii) Tieaet 3Tacaer e

(ix) Afaaia

(x) Tt sifom Suwim =

Calculate National Income and Private Income :

(1) Net imports

(ii))  Net domestic capital formation

(ii1) Personal income

(iv) National debt interest

(v)  Corporate tax

(vi)  Government final consumption expenditure
(vii) Net factor income to abroad

(viii) Net indirect tax

(ix)  Undistributed profits

(x)  Private final consumption expenditure

12

(T #g)

15
90
10
25
20
()5
10

100

(¥ crores)

5

15

90

10

25

20

()5

10

100
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MARKING SCHEME — ECONOMICS (FOREIGN)
(SET-1I)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3. For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4. For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5. Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
2
C Expected Answer / Value Points of Marks
1 | (b) Does not shift 1
2 | Monotonic preferences mean that as consumption increases total utility also 1
increases alongwith.
3 | (a) Substitutes 1
4 | The measure of price elasticity of demand has a minus sign because there is
inverse relation between price and demand, while the measure of price 3
elasticity of supply has plus sign because there is direct relation between price
and supply of a good.

Pg. 1



Good X Good Y
(Units) (Units)

0 20 -
18 2Y:1X
14 4Y:1X
8 6Y:1X
0 8Y:1X

MRT

A W N R

Since MRT is increasing, PP curve is downward sloping and concave to the
origin.

(Diagram not required)

1%

Education raises efficiency by making a worker a skilled worker. This will
increase production potential shifting the PP curve upwards.

(Diagram not required)
OR

Inflow of foreign capital into the country means increase in resources. This will
raise production potential of the country leading to upward shift of PP curve.

(Diagram not required)

O ey .

Maximum price ceiling refers to imposition of upper limit on the price of a
good by the government. For example OP is price ceiling while OP; is
equilibrium price. Producers are not allowed to sell good at a price greater
than OP. The ceiling is normally imposed on goods needed by masses, like
wheat, rice, sugar etc.

For blind Candidates Only :

Maximum price ceiling refers to imposition of upper limit on the price of a
good by the government while minimum price ceiling refers to imposition of a
lower limit on the price of a good by government.

Product differentiation means that consumers differentiate between the
products produced by the different firms. As such a group of consumers
become loyal to the product of a particular firm. This gives the firm power to
influence the price of the product produced by it.

Pg. 2



9 | Supply refers to the quantity of a good the producers are willing to produce at 1
a price during a period of time.
Technological progress, by raising productivity, brings down per unit cost. 3
Price remaining unchanged, profit increases. This induces producers to supply
more.
OR
“Change in supply” refers to increase / decrease in supply due to a change in 1
any factor other than the own price of the good.
Imposition of tax raises cost. Price remaining unchanged, profit falls. So 3
producers supply less.
10 Price Exp. Demand
5 200 40 1%
4 200 50
P _ AQ
_ 510
T40 7 -1 1
= —1.25 %
(No marks if only the final answer is given)
11 | - Given equilibrium, Supply ‘decrease’ .
- Price remaining unchanged, excess demand emerges.
- Excess demand leads to competition among buyers causing price to rise.
- Rise in price causes fall (contraction) in demand and rise (expansion) in
supply. 6
- Rise in price continues till the market is in equilibrium again at a higher price.
(Diagram not required)
12 | The equilibrium conditions are :
i) MC=MRand (ii) MC > MR after equilibrium.
Suppose MC > MR. In this situation it will be profitable for the firm to produce
more or less depending upon relative changes in MC and MR till MC = MR. 3
Suppose MC < MR. It will be profitable for the producer to produce more till
MC = MR.
MC = MR is a necessary condition but not sufficient to ensure equilibrium. If
after MC= MR output, MC<MR if more is produced, it will be profitable for the
firm to produce more. If after MC= MR output MC > MR, it will not be 3

profitable to produce more and the firm will be in equilibrium.

(Diagram not required)

Pg. 3



13

The Phases are :
Phase : | TP rises at increasing rate i.e. upto A
Phase : Il TP rises at decreasing rate i.e. between A and B.

Phase : Il TP falls i.e. after B.
Reasons :

Phase | : Initially variable input is too small as compared to the fixed input, As
production starts there is efficient use of the fixed input leading to rise in
productivity of the variable input on account of division of labour. As a result
TP rises at increasing rate.

Phase Il : After a level of output, pressure on fixed input leads to fall in
productivity of the variable input. As a result TP continues to rise but at a
decreasing rate.

Phase lll : The amount of variable input becomes too large in comparison to
the fixed input causing decline in TP.

\,

B

|

[}
-rp

TP A
Phase T ! Phase T 1 Phasell
X
Y Variable

Imput

For Blind Candidate Only

Variable input TP mMP
(Units) (Unit) (Unit)
1 6 6
2 20 14
3 32 12
4 40 8
5 40 0
6 37 -3
Phases :

(1) TP increases at increasing rate upto 2 units.
(2) TP increases at decreasing rate upto 5 units.
(3) TP falls from 6 unit onwards.

Causes :

Same as above

%x3

1x3

1%

1%

%x3

Pg. 4
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Let the two goods be X and Y. Given Px =1, Py =1 and MRS = 2, the consumer
is said to be in equilibrium when

MRS = 2
Py
Substituting values we find that

2 >2or MRS > X
1 Py

3
MRS > i—" means that consumer is willing to pay more for one more unit of X as
y
compared to what the market demands.
- The consumer will buy more and more of X. 3
- As aresult MRS will fall due to the Law of Diminishing Marginal Utility.
- This will continue till MRS = i—x and consumer is in equilibrium.
y
(Diagram not required)
OR
Given P, =2 ,P, =1 and MUy=4 , MU, = 4, the consumer will be in
equilibrium when
MU, MU,
P, P,
Substituting values, we find that consumer is not in equilibrium because :
4 d g MU MUy 3
2 1 Py Py
Since per rupee MU, is lower as compared to per rupee MU,, , the consumer
will buy less of X and more of Y. As a result MU, will rise and MU,, will fall till
% and % are equal again and the consumer is in equilibrium. 3
x y
(Diagram not required)
SECTION - B
15 | (c) Borrowings less Interest payment. 1
16 | 1. Private final consumption expenditure 3. Government final expenditure
2. Investment Expenditure 4. Net Exports (Any Two) Y% x2
17 | (b)1 1
18 | (b) Negative 1
19 | (c) Subsidies 1
20 Charity to foreign countries is recorded in the current account of BOP a/c
because it is a transfer payment. It is recorded on the debit side because it 1% + 1%

leads to outflow of foreign exchange.

(No marks if the reason are not given)

Pg.5



21 Nominal GDP
Real GDP = - X 100 1%
Price Index
200 = 210 x 100
~ Price Index 1
Price Ind 210 x 100
rice Index = —————
200
= Rs.105 %
(No marks if only the final answer is given)
22 A BOP transaction independent of the state of BOP, i.e. undertaken on its
own, is autonomous transaction. 1%
A BOP transaction influenced by the state of BOP, i.e. by deficit or surplus is
accommodating transaction. 1%
OR
Balance of trade = Exports of goods less imports of goods. 1%
2
Balance on current account = Receipts of foreign exchange on account of
current transactions - Payment of foreign 1%
exchange on account of current transaction.
23 Y=C+MPC(Y)+1 1%
750 = 200 + (1 — 0.4)(750) + I 2
I =750 —-200—-450 =100 Y
(No marks if only the final answer is given)
24 The central bank is the sole authority for the issue of currency in the
country. It promotes efficiency in the financial system. Firstly, because it
. L . .. 4
leads to uniformity in the issue of currency, Secondly, because it gives
Central Bank control over money supply.
OR
As the bankers to banks, the Central Bank holds a part of the cash reserves
of commercial banks from these reserves. It lends to commercial banks
when they are in need of funds. Central bank also provides cheque clearing
and remittance facilities to the commercial banks. 4
(To be Marked as a whole)
25 | Money supply has two components: Currency and demand deposits with
commercial banks. Currency is issued by the central bank while deposits are
created by commercial banks by lending money to the people. In this way 2
commercial banks also create money.
Commercial banks lend money mainly to investors. The rise in investment in
the economy leads to rise in national income through the multiplier effect. 2

26

Government expenditure and taxes can help in fighting price fluctuations.
Inflationary tendencies emerge due to aggregate demand being higher than

Pg. 6



aggregate supply. While reducing its own expenditure government, can bring
down aggregate demand during inflation. During deflation government can

increase its expenditure. To raise aggregate supply, tax concessions and 6
subsidies can also be used.

27 (i) Payment of Corporate Tax is a transfer payment and therefore not 2

included in national income.
(ii) Purchase of machine for own use is investment expenditure by firm 2
and thus included in national income.
(iii) Purchase of uniforms for nurses by a hospital is intermediate cost for 2
the hospital and thus not included in national income
(No marks if the reason is not given)

28 | The Inflationary Gap is the amount by which aggregated demand exceeds
aggregate supply at the full employment level. It is called inflationary because 2
it leads to rise in the price level.

Cash Reserve Ratio: is that percentage of bank deposits which are held as
reserves with the central bank. Central Bank has the right to fix CRR. The
central bank can reduce inflationary gap by raising CRR. Raising CRR will 4
reduce lending capacity of the commercial banks. Less lending will leads to fall
in aggregate demand helpful in reducing inflation.

OR
Deficient Demand: is the amount by which the aggregated demand falls short
of aggregate supply at full employment level. It causes fall in price level. 2
A margin requirements: is the difference between the amount of the loan and
market value of security offered by the borrower against the loan. If the
margin imposed is 40%, then the bank is allowed to give loan only upto 60% of
the value of security. By reducing margin the lending capacity of the banks can
be raised. More lending will leads to more aggregate demand, that is helpful 4
in reducing deficient demand.

29 N.l. =x+vi+ii—i—vii—viii 1%

=100+20+15—-5—-(-5)—10 1

= Rs.125 Crore. 72
Private Income = iii + v + ix 1%
=90+4+25+4+0 1

= Rs.115 Crore

(No marks if only the final answer is given)

Pg.7
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